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x+y=4
1| A
2x —3y =1
{x2+xy— 2y =4

= —IRBOSLHER

3x—-2y—z=7

{x+3y—22=4
4x —2y+3z=5

x+y=12
6. yy+z=28
z+x=10
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1 {3x+4y=24
' xy =12

{ x+2y=5
5x% + 4y% + 12x = 29

2x+y=7
3 {xz—x +y2=7
yTry: =

{ 2x +3y =7
x2+xy+y*=7

2y+5z—-19=0

{4x—3y+2=0
5x-7z+16 =0

3x+y—2z=1

{ x+y+z=9
x—2y+z=0

dx+y+2z2=3

{Zx—By—Z=4
x—4y—3z=72
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[Ans:x =4,y =3]

(Ans:x=-1,y=3sx=72y= ]

[Ans:x =2,y=38x=3,y=1]

[Ans:x=—-1,y=38x=2,y=1]

[Ans:x =1,y=2,z=3]

[Ans:x =2,y=3,z=4]
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1. BH2x+y=x-3y+15=16 , K x> +xy— y? {1E . [Ans:E]
A2 B 7 C 49 D 53 E 59

2. R circle x>+ y2=6 Hx?+ y?—6x+8 =0 [MZ A intersection point. [Ans:E ]
A (-1,3),(-1,-3)

B (vV2,2),(vV2,-2)

o (2. 0). (1 )

xy+y=4

Yty =4 [Ans:y=4,x=0]

3. I A2 solve the equation {

x2+y2=2
x2—y2+3x+3y=0
x=1,y= -1
x=-1,y= ]

4. fEITFERA { , P x 5y #ESE%L Real Number

[Ans: {

3 4
N —_t —=1 =1, =0
5. fik i #EU4 solve the equation {x—Z y+1 [Ans:{x — Y ]
X—y= x—8,y—7
2.3 _
6. fi#J7F23t41 solve the equation {5 %Y [Ans: x = g L y=—1]
x Ty O
x+y=12
7. f# 77723\ solve the equation{ y + z = 8 [Ans:x=7,y=5,z=3 ]
z+x=10
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